C FRERERER

B :mm

L A= (mm) TR
10+15+20+~25+30+40+45+50+60

210 ~70+~75~80~80~ 100

16 10+15~20+~25+30+40+45+~50+60
~70+~75~80+80~100 125~ 150

@20 10+15~20+25+30+40+45+50+60
~70+-75+80+80~100+ 125+ 150

@25 10+15+20+~25+30+40+45+50+60
~70+~75~80~80~100~ 125~ 150

O EBFmH AR g
B2 kof
Fagid 0 1T BF | SEEH ZERET) (kgflen”)
(mm) (mm) cm? 1 2 3 4 5 6 7
10 6 HE 1.5 3.1 4.7 6.2 7.8 9.3 10.9
fava 1.0 — 2.0 3.0 4.0 5.0 6.0 7.0
16 8 HE 4.0 4.0 8.0 12.0 16.0 20.1 24 .1 28.1
fava 3.0 3.0 6.0 9.0 12.0 15.0 18.0 21.0
20 10 HE 6.2 6.2 12.5 18.8 25.1 31.4 37.6 43.9
Eavd 4.7 4.7 9.4 14.1 18.8 23.5 28.2 32.9
25 12 HE 9.8 9.8 19.6 29.4 39.2 49.1 58.8 68.5
Eava 7.5 7.5 15.1 22.6 30.2 37.7 45.3 52.8
O 5 LS REBHEE s BIRMAET A% REEEE N RASHSERENETE o (495 70% ~ 80% )
O FtgR
BHE i 8 (mm) 210 216 220 225
fEEDAZR T AL
{EREE TR
ERRNHE kgf / cm? (kpa) 1~8.5 (100 ~ 850)
RAFEHRBA kgf / cm? (kpa) 9 (900)
ERREEE °c 0~ 60
HEREEHE mm/sec 50 ~ 700
] 50
E,':EAEEED@ M5x0.8 Rc 1/8”
RERE B3 PR
O ETRETEMACER

S

NDTDX

D (

16

© NDTDX : SR#hRiL

[

|

FELAE

[

10
16
20
25

210 mm
2 16 mm
@ 20 mm
& 25 mm

210 — 10~ 100 mm
216 — 10 ~ 150 mm
@20 — 10 ~ 150 mm
@25 — 10 ~ 150 mm

1-5.12




ND TD Xsx-

e

X

C T RBRIHE

%

[EE ]

P

ig

T 2 2

#m S B B M & “m SR B B M &
01 ESE RES 11 HIEORIIE i S BB
02 % = BEd 12 SEEA i s 2
03 B E BEe 13 BEORIIE i i 22
04 EOE HEe 14 A B R i s 2
05 BsE Has 15 = 0 E R A e
06 EE Fh B 16 2 i [ X R A2
07 f2 & SR
08 e RE S
09 B L
10 FEEE % B
SO i ABEHMEIR TR E B IRIE -
C ERROMREMHE
15 B EERER BMFREER AIEORS ®BEORIR
I mm #gE 2 2 4 2
210 COP-10 PDU-6 8x1.5 8x1.0
216 COP-16 PDU-8 14.5 x 1.5 13.2 x1.5
220 COP-20 PDU-10 18 x1.5 17.5 x1.5
25 COP-25 PDU-12 21.8 x2.4 20.8 x 2.0

L araRRufAEs  2RALEOR (=5 WERAERSEIEN )

1-5.13

©
&
E2
B
i

| Swames | BR-ee | pEesE | EEewE | SRS



§N D TD Xz5- watsmsr

C B NEEHM

‘ Z 98 .
w 3 NDTDX 25
\ f—
w40 — NDTDX 20
o ——
= 1 _¢$ v 20 — NDTDX 16
¥ 10 — NDTDX 10
20 40 60 80 100
FELFTRZ (mm)
Z9 = NE=S
C BIHAME
E 15 E 15
!‘B\! 1.0 IM 1.0
ey & ~
& b2
_ 0.5 0.5
£
é 0 20 40 60 80 100 0 20 40 60 80 100
ﬂ,@ REL1TAZ (mm) RELITFE (mm)
=
£ =4 — —be
£ £
1. 1.
E 5 / E 5 /
m 4 mm 4
g 1.0 Q_th 1.0
= =
0.5 0.5
0 20 40 60 80 100 0 20 40 60 80 100
SELF372 (mm) TELF772 (mm)
C EhETwEF R~ C ExE R
o FEREIFE I
PA
PC f
| 1 | |
I 1%
- - @9
o EIREGIRE TR
QOPE
=
oPD i@
= / J|!
8% pAl P |PC|PD PE PF|PG|/PH| PJ
g l
210 35 [M4x0.7p| 20 | 6 |P4.58i® T7.98x4.3 ;E| 52| 52| 6 |M4x0.7p;E10
@16 |45 |M5x0.8p |25 | 8 |B5.583@,11F.D9x5.5 iF| 6.2| 6.2| 8 |M5x0.8p;F12 l
220 50 |[M5x0.8p| 28 | 10 |@6.58 @, TF.911x6.5;%| 8.2| 8.2| 10 |M6x1.0p;E15
@25 60 |M6x1.0p| 35 | 12 |@8.58 @, 1T7.914x8.5;%(10.210.2 | 12 |M8x1.25pF15

1-5.14



CONDTDX@10 x [ ]

2 -M4x0.7pE3@

72+ (1772x2)

NDTDX10 x (1ST

17 17+17%8 L
a 15 1 20 A
'@' Or_@____________
©
RIS I ol L8 - _____
) S — 4 —_ — _ — — =
%
8 \
\
M4x0.7p 85 YAt 8 \ 2-M4x0.7p BiE
EE R s FAEEFL06.5%3.3dp
2 - M3x0.5px5dp
(FAE)
2-258%
M5x0.8px5dp (7 &)
29.8 8_
< 9 r—
[ee)
2 B ! 2
L o ﬁ—l K
! 9 20 A 2-M3x0.5px4.5dp
(FRE)
o R~Fz o g -
B{7 : mm
R 7% 10 15 20 25 30 35 40 45 50 60 70 75 80 90 100
A 30 30 30 30 40 40 40 40 40 50 50 50 50 50 60
L 65 70 75 80 85 90 95 100 105 115 125 130 135 145 155
1-5.15

o3

e

17

Ml

%
i

P I

T2 2 O

©
&
£
B
i

| SyEmEn | BE-28 | FRRsE | EResE | EEEswE



C NDTDX@16 x ]

2-M5x0.8p &Hil

79+ (1752 x2)

NDTDX16 x [1ST

20 19+ 1772 L
1 18 1 30 A
|
P Sk
3| 8| 2| & | 2 ———-—]————E———e———@———
©
Q | — 1 . = = — N\ - - — — _— |
L ®
L : 2 ;
T AY
M5x0.5p 10 _}_5L |8 | \ 2-M5x0.8p &if
E ol 4 FREEALE8x4.4dp
2-M4x0.7px6dp
2-@25 8%
M5x%0.8px5dp (FRTHE)
37 8
- |
L - 4 I
At D e i
‘ 9 30 A
2-M4x0.7px4.5dp
()
o R~F#*& e
B {7 : mm
e 7% 10 15 20 25 30 35 40 45 50 60 70 75 80 90 | 100 | 125 | 150
A 25 25 25 25 35 35 35 35 35 45 45 45 45 55 55 75 75
B 70 75 80 85 90 95 100 | 105 | 110 | 120 | 130 | 135 140 150 | 160 | 185 | 210

1-5.16




©C NDTDX@20 x [ ]

A1

2-M5x%0.8p Hil

25

23

N
-

94+(1712 x2)

NDTDX20 x (1 ST

24+1772 L

30 A

r
|-©-¢]
N

|
| |

o3

e

17

Ml

%
i

P I

T2 2 O

3 ¢ 8 ® | g — — 4@ —
g _‘
=
a vial \
T
M6x1.0p 125| 6 11 2- M6x1.0p B3
[E EBE R 12J . FREAEFL ©9.5%5.3dp
2-M4x0.7px6dp -
2-02 588
M5x0.8px5dp (R4 E)
44 .85
0 ©
o B |
T A ==
0
[}
12 30 A
4-M4x0.7px4.5dp
(FATE)
C R~F&& g -
B {7 : mm
e 7% 10 15 20 25 30 35 40 45 50 60 70 75 80 90 | 100 | 125 | 150
30 30 30 30 40 40 40 40 40 60 60 60 60 60 60 80 80
B 80 85 90 95 100 | 105 | 110 | 115 | 120 | 130 | 140 | 145 150 160 | 170 | 195 | 220

1-5.17

©
&
£
B
i

| SyEmEn | BE-28 | FRRsE | EResE | EEEswE



O NDTDX@25 x [ ]

2-M6x1.0p Bif

|

30

28

4

96+ (1772 x2)

NDTDX25 x 1 ST

24+ 1712

30

o [ee) o 0 o —E- _— —_— —_— —_— —_
| N~ © ™ ©
N
Q
) \
M8x1.25p / 15_J _Js 1 \_2-M8x1.25p i@
[ EBR 12 || 1 MEAEFL @11x6.3dp
2-M5x0.8px7.5p
2-O38%
PT1/8"x6dp (FITHE)
43 .9
~ N
0 1 1
2 -O- | _0-
A !
I ] Q
30 A
4-M5x%0.8px7.5dp
(FRE)
C R~F&& g -

B {7 : mm
e 7% 10 15 20 25 30 35 40 45 50 60 70 75 80 90 | 100 | 125 | 150
A 30 30 30 30 40 40 40 40 40 60 60 60 60 60 60 80 80
B 82 87 92 97 102 | 107 | 112 | 117 | 122 | 132 | 142 | 147 152 162 | 172 | 197 | 222

1-5.18




